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(*) Instructions to candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Use of scientific calculator is allowed.

4) Assume suitable data where ever required.

Q1) Attempt any One
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Q 2) Attempt any One
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> A body weighing W=20N is hung from a spring. A pull of 40N will stretch the
spring to 10 cm. The body is pulled down to 20 cm below the static equilibrium
position and then released. Find the displacement of the body from its equilibrium
position in time t seconds, the maximum velocity and period of oscillation. [8]
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» The D.E satisfied by a beam, uniformly loaded with one end-fixed and second
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Show that the elastic curve for the beam under conditions
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Q3) Attempt any one

a) Find Fourier sine transform of f(x)=e¢%cosx , x>0

Using Fourier integral represent
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